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1 T &F NS
2 $BE UED N4
3 TE &1t N2 F77ILRG 4.200 6.300 10.500 0.000 10.500 1
4 bR =R IN2
5 FREF IDE IN2
INEE (FrAILE)
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No. EFA FHE FrEEA4 5 2 = = == = for
4 K &% N2 Tiara RG 1.950 7.700 9.650 0.000 9.650 1
8 BH vxY /M1 Tiara RG 0.800 6.250 7.050 0.000 7.050 2
12 ik f= IN2 Tiara RG 0.800 5.950 6.750 0.000 6.750 3
18 ElL FE N4 LuLuDi RG 0.800 5.900 6.700 0.000 6.700 4
14 g B N3 LuLuDi RG 0.900 5.750 6.650 0.000 6.650 5
5 it MR IN2 | L AT HIEESST 0.900 5.700 6.600 0.000 6.600 6
17 T &It N2 F77)LRG 0.450 5.750 6.200 0.000 6.200 7
3 TEF Kk /M DT A=TEARIEIST 0.450 5.200 5.650 0.000 5.650 8
2 Y NG Angelique 0.800 4.800 5.600 0.000 5.600 9
1 £H# HED /M DT A=TERIEIST 0.500 5.000 5.500 0.000 5.500 10
13 KEF =X /M DD AT HRIESSD 0.450 4.850 5.300 0.000 5.300 11
11 =5 Pm IN2 | BRIV AT EARIREIST 0.700 4500 5.200 0.000 5.200 12
15 K &k IN2 | DDA TEIRRESSD 0.350 4.800 5.150 0.000 5.150 13
7 BHiE BRI /M D= TEFARIREISD 0.250 4550 4.800 0.000 4.800 14
16 £ HE /N3 LuLuDi RG 0.300 4.400 4.700 0.000 4.700 15
6 FarT /M LuLuDi RG 0.150 4.450 4.600 0.000 4.600 16
9 ittt &= N2 | DDA TEHKIEISD 0.300 4.100 4.400 0.000 4.400 17
10 | S8 BMER M LuLuDi RG 0.150 3.750 3.900 0.000 3.900 18
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No. EFA P FriE x4 5 A = = = = o
20 #ME #1K ING Tiara RG 5.000 4.850 4.950 14.800 0.000 14.800 1
30 ki T4 N6 | L= TEHKIEISD 2.600 4.300 5.550 12.450 0.000 12.450 2
28 Hig Bx INs | DD AT EIRIRESSD 2.300 4.700 5.350 12.350 0.000 12.350 3
29 TE 3 NG Tiara RG 2.300 3.750 5.450 11.500 0.000 [ 11.500 4
24 1k = INS | R TEAKIEIST 2.300 3.950 5.250 11.500 0.000 11.500 4
23 AH B ING Tiara RG 1.500 4.350 4.750 10.600 0.000 10.600 6
19 N KB N | DA RR—YHSTHEER 1.500 4.400 4.450 10.350 0.000 [ 10.350 7
26 )l Ek INs | O A= TEKIESISD 1.300 4.650 3.900 9.850 0.000 9.850 8
27 kik B ING | DaARKR—YHSTHHER 1.000 4.450 4.300 9.750 0.000 9.750 9
21 £k mE N | DA RKR—YHSTHEER 1.500 4.150 3.700 9.350 0.600 8.750 10
22 &5 Rt ING | DaARKR—YHSTHEER 0.600 3.500 4.400 8.500 0.000 8.500 11
25 XbE HhE N | SIARR—YISTHER 0.700 3.900 2.950 7.550 0.000 7.550 12
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36 BE VLD N F7 2JLRG 3.700 5.300 4.900 13.900 0.000 | 13.900 1
34 TH &% ING F77)LRG 2.600 4.650 4.400 11.650 0.000 [ 11.650 2
35 Rk = INs | DAL RAR—YHISTHEER 1.300 4.700 4550 10.550 0.000 10.550 3
31 Kfi WE INS | DDA TEIRIRESSD 1.200 4500 4.150 9.850 0.000 9.850 4
32 BA & INS | DAL RAR—YISTEER 1.000 4.150 4550 9.700 0.000 9.700 5
33 T FK N | DA =T HAREIZT 0.400 2.850 0.350 3.600 0.000 3.600 6
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40 o ING Tiara RG 4.200 6.050 5.500 15.750 0.000 [ 15.750 1
37 T fhEe N4 Tiara RG 2.500 5.550 5.700 13.750 0.000 13.750 2
38 e Rt N Angelique 2.500 4.800 4.950 12.250 0.000 [ 12.250 3
39 L5 HEX ING | DaARR—Y IS THEER 1.600 5.000 5.100 11.700 0.000 11.700 4
41 FHH EXRE NS | BRI A= TR T 0.200 3.700 3.300 7.200 0.000 7.200 5
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51 =g ZH h2 | R TEHRIEYSD 4.100 7.100 6.050 17.250 0.000 17.250 1
46 M B h3 [ AERAEYRK—VYH5T 3.300 6.550 5.450 15.300 0.000 [ 15.300 2
44 FE EZ F2 Angelique 4.500 5.100 5.450 15.050 0.000 15.050 3
49 KA B 1 O THAIEISD 3.100 5.050 4.650 12.800 0.000 12.800 4
47 =H & th2 Angelique 3.400 4.000 4550 11.950 0.000 [ 11.950 5
45 g 2 DA RAR—ViEER 2.000 4.050 4.550 10.600 0.000 10.600 6
52 BA I th2 Tiara RG 2.900 3.850 3.750 10.500 0.350 [ 10.150 7
43 INE L R h2 [ BERAEYRKE—VYHIST 1.600 4.300 3.550 9.450 0.000 9.450 8
50 AR 3FEx i1 DA RAR—VEERR 1.800 4.450 3.650 9.900 0.900 9.000 9
48 Bl Ak F2 F77JLRG 1.900 3.600 2.550 8.050 0.000 8.050 10
42 RS Y ] 1 DAMRR—VIEER 1.000 2.500 2.450 5.950 0.400 5.550 11
g d (GR—)L) _
. s, = &

o BFE | FF PR %% ) A E 25 T 3E [ Ba | #
54 g B F2 F72JLRG 3.100 4500 2.500 10.100 0.000 10.100 1
58 =S h2 [ ABRRAEYRKR—YH5T 1.900 5.600 2.300 9.800 0.300 9.500 2
53 Lt BEES i1 DA RAR—VEER 1.300 3.400 4.200 8.900 0.600 8.300 3
56 EE EBK i1 DAA{ AR—YEER 1.200 2.600 3.900 7.700 0.000 7.700 4
55 AR EH: &1 Tiara RG ESS A > —
57 | &F FRE | i F7IILRG F 7 > -
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No. :%%%_ =ak:d FriE x4 5 y = = == = for
64 WA BHAZE i1 LuLuDi RG 5.700 6.700 6.000 18.400 0.000 | 18.400 1
63 MHE bk th2 Angelique 6.400 6.150 5.300 17.850 0.000 [ 17.850 2
59 INK TR 1 F77ILRG 3.700 6.150 4.150 14.000 0.000 14.000 3
61 B LAE F2 | HBRAEYRKR—YHST 2.500 6.050 4.400 12.950 0.000 [ 12.950 4
62 WA B i1 F77)LRG 1.700 4.050 3.100 8.850 0.000 8.850 5
60 =it F2 Tiara RG i T > —
65 EH ED F2 Tiara RG i T > —
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70 Hd B 2 LuLuDi RG 4.900 5.800 4.900 15.600 0.000 | 15.600 1
67 T #E ol RO ZTEARIEIST 4.400 6.000 4.500 14.900 0.000 14.900 2
74 BAR BExH h3 [ BT =THEEREIST 1.900 4.800 4.450 11.150 0.000 11.150 3
68 AH #H 2 A4 RAR—VEER 0.900 4.900 3.550 9.350 0.000 9.350 4
71 Ml B 2 Tiara RG 1.700 3.150 4.250 9.100 0.000 9.100 5
66 XE X& f1 Angelique 1.700 3.250 3.650 8.600 0.300 8.300 6
72 Bx R th2 Angelique 1.500 2.800 3.750 8.050 0.000 8.050 7
73 BE Y71t 2 DA RAR—VEER 0.900 2.850 3.750 7.500 0.000 7.500 8
69 HH FE F1 | Wb a=THEEISD 0.700 2.750 2.750 6.200 0.000 6.200 9




